
lj1fkg s/sf] b/ M -aflif{s_ 

cGo b:t'/ cf=a= @)&%÷)&^ 

Unf] ;fOgaf]8{ l8lkP; jf]8{ k|lt j=k'= 60.00 
jfn jf8{ ly| 8L k|lt j=k'= 60.00 
jfn jf]8{ nfO{6 ;d]t k|lt j=k'= 60.00 
km]n]K; jf]8{ k|lt j=k'= 45.00 
leQ] n]vg k|lt j=ld= 20.00. 
kf]n Jofg/ k|ltld6/ jflif{s  500.00 
jfn k]G6 lj1fkg k|lt j=k'= 20.00 
kf]n jf]8{ jflif{s 1200.00 
cfˆgf] Joj;fosf] klxrfgsf] nflu Joj;fo :yndf /fv]sf] ;fOg jf]8{sf] s/ gnfUg]  0 

 

gf]6M ;'tL{ / dlb/fhGo kbfy{sf] lj1fkgdf yk @% k|ltzt s/ nfUg] 5  .  

 

 


